
 

NATIONAL TALENT SEARCH EXAMINATION-2018-19, MAHARASTHRA 

SCHOLASTIC APTITUDE TEST (SAT) HINTS & SOLUTIONS 
 

4.  
Sol: (2) 
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5.  
Sol: (3) 
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7. 
Sol: (1) 
 H = M. S.   = 5000 × 1 × (100 �20) Calories 
 = 5000 × 80 × 4.18 J 
 = 167200 J 
 = 1672 kJ 
 
8.  
Sol: (2) 
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9. 
Sol: (2) 
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Sol: (3) 
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Sol: (3) 
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81. 
Sol: (4) 
 For  x = 2 ; y = 3 
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82. 
Sol: (3) 

 3,      
5

2


   

 Quadratic equation  
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83. 
Sol: (3) 
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84. 
Sol: (2) 

mailto:pccp@resonance.ac.in


 

  

 

1

n

17,23,................,497

a 17

d 23 17 5

a 497

17 n 1 497

480
n 1

6
n 1 80

n 81



  



  

 

 



 

 
85. 
Sol: (2) 
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86.  
Sol: (2) 
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87. 
Sol: (2) 

   n odd  
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88. 
Sol: (3)   
 N = 70 
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 f = 10 
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89. 
Sol. (2) 
 (1, 1) (1, 2) (1, 4) (1, 6) 
 (2, 1) (2, 3) (2, 5) 
 (3, 2) (3, 4) 
 (4, 1) (4, 3) 
 (5, 2) (5, 6) 
 (6, 1) (6, 5) 
 
90. 
Sol. (1) 
 (8 + 3) × 8 � 5 = 83 
 16(8 � 3) + 3 = 83 
 
91. 
Sol: (3) 
 BD = AD=DC by theorem 
 So 020DBE    

  070CDE   

 So 050DBECDE   
 
92.  
Sol. (1) 
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 AB + BC + AC = 66218   
 
93.  
Sol. (3) 
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 Statement A is correct but B is false. 
 
94.  
Sol. (4) 
 all the given statements are wrong. 
95. 
Sol. (1) 
  20EDB (Altemate interior angles) 

  50DCB  by angle sum property 
 
96. 
Sol. (4) 
 In PQR  
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97.  
Sol. (1) 

  
  
 
98.  
Sol. (4) 
 It is a square 
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99. 
Sol. (4) 

  
  
 
100. 
Sol. (3) 
 PQRS is a square 
 Qs = 2r 

 Side of square is 2r  
 So 
 Area of shaded postion 
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